SOLOTION AND SCHEME of vALOATION

Analbytis

TAT-T  Magch-2018

Di d/&fﬁ"b’fb’)‘i‘f)qfﬂ LTvuctyrec IECVA»Z

¥

1@ Erplain derevminate amd indete vmingte structurs
Ldh the  hely o} etample

ADS” De*t&fa'rmm)ra sﬁ“qyuctu’r‘e,— A S‘t“b’quQFQ Lo ek
Lt :

can ‘p& aoaﬁa&d ‘pa “379@ %.Q}/Uléﬁﬁoos oy Bg9™
,\,Ea st wndwon &8 Arterminake  <twuddyreg

Edompley . canBlver beom) / @

three hingd anch N

g’m“PLJ(T Supported beqgn ‘}’——7}

Trndetesminake <Eructure — ctruekury  which
Cannpt be Oﬂﬁ—bﬂatﬁfd 177 %7 24]/@ o%; ga/t,ul\)méum
D(\’L'df o @Wﬂﬂp o inde e gndole Ltructursd.

P‘?"OPPMA canblever bean

Conbn Uiy beam

77 i 77%



1 (b) /Dh’)a)l,% Yhe 'P‘lQ)\L 7wy shown 10 %5 k»‘y/ |
- mithed o) G\LC"JB anA, Wﬁ{*j Forens 0 ¥

three mimbuy by methed of Sechons
/BTSN '
=
‘BB’\/ B%N
D .
A/ Lo 60 0 N R
% 0 '
Ha 3 & 9w S 3”7 é
col". VA= 2300 (Bt
(1) cugpost ractet

Sy =0 *
VVP;"’VB o 3%1’]’3 )
Vg«\—\}@ = KN

T WWDJWZ}

ol eS
2 ™)t ber TEE,
&y /@,,jz//

Lae
Jpint P = o ‘
\/\/\/J | | @D' ,{?
Zﬁg;a A
b+ {pp 81090 =0
Vg =A%)

Sap=-g K (1)



ZP«;L:O

dpp 0530+ Lpc = o

—8¢08%0 Y tpc—0
’%L: 69928 KN X

Zfa=0

rE’DECCﬁ?O‘ ’\'(E‘DL colép ,\.8(_0530':0

252(:0

/QDEJ;EQBD' & —Jp . 38ibd + 8<inan 82

—6:C 83
Apg = @ BHO toc = @ v O

?’_Dl?ir/-_e " Q,S@W SS&
SFa=0 |
—6-929 Q. 9860 kot b cioces=0 i
>y =0 oaeer h

—2.8§9 8060 + tceS 060”6
*cé/*ase%mé oo - A




(3) W)&%’Do) D% gﬂﬁ‘HOo%

AVN
Zta=20
“%C/%%C/wﬁéo\«\/ﬁpé 08 =D — * ®
SHzo |
% O = />

»5%4 ~ Lo st 4 dpe ¢in30 =

= My =0 @

2944
SR Y Yo ra<y =0

(0530= A/; _p Y = 25am . APy =23968930
—259 F A 0
fre = e BN

ApE = (-ASKN



9_@7 Staxe Yhe cudump}song made 10 the amﬁyﬁs O
1ok .

A, |
e S,
O The A b paged

'yoqo?‘j MA«M L) &ame ’HTD'DWU-&“
B 21 Mt ok a5 pimed 07 hinged
k) Self oot o e At B negtd

@ T Loads )1 agh-al

| (foiy\fg 0»\&?




2 () A Yhree M%@( Forn)bol/{c, avch has a gpan o dsm
and a ceotanl asge o} sm. Tt cqrwd A udl
°F 28 kNlm over dhe Lt hald pothon and a ponk
Load b 6KN ot a AUtance of é‘rr)) A Ahe ﬂr%kf
vaj& Diaw) BMD. talodakte nosoad thaygt ovnd
vadid cheey af o dbtance of 6m /Fm;y; M w%k@’”
hngl

50]’7 : Q_D'\%‘N"m G}s'l\l

—_— (%7

@ Supypost Fenctyong
=
ZQ’JL::O
Hp —Hr=0
Hp=Ha=Y
gq:ua,cc )
Ne T N — QoML = —V )
>Np=o
20K TABs A4 6 (3-8
o]

Ve = 6’7-06%7\7 Vpy =188 94 B

—Nng 18 =0



sMag —o (Lne)
_ 20X\ sXS “
== YNARIAS —Hpxs o

Hp = 153-85 ¥

e = Hg = N = 15985 8N

Q ;ﬁ |
Ar=n Ny tMp Re = \V& tVe =\
(59

— QA T-48F BN — 17%.346%

O = ~ Y&
e De= I‘)%g
by — 49768 Og — 2275
3 Rige and <lope At500 !
il et slope &7
gz Aab all-4)
19/
_oAE A oS -1)
= A=
(2S)

%: O KA - @-03&(19” 0
(2

- /@'g - @'O .442’2

Ay _ p.g - 00644 _,,/»@

oA



(2 gmD

-
Mp=Me=M; =0

™p =_90% 6asx6as
= + VoA 1T — H"*%E\{D
= 360'5&S>¥&36L75—\59@5[}4?1~0039d?1

ALZ 6325

= - 390625 Q36178 — 799.2 € ¥ 199¢)
= \271.6875 B -

Me = Vaxrg fa{gt%g

— b67-06X 6 ~ 159 .85 [0 Kxérooz;xeﬂ

— AbDQ-36 — 76728 T 18 A VA2
Me = —180-77 BNM,

7)) Nowa Hmat and adial et

o~
NT — Hent© > VLN RE= oiob-Viss

Hoasa BN, vo_e7 ey RE=12%.99 K B
O
tan® =04 — 0064 0%
N ™) D
o= ta (08 -00mE] | ——gyum
C

Oz22.58 ]
NV 84K

£



